DATE

number bond. Write a number sentence by crossing out from 10.
1) Derek made some snowman. He made 9 big snowman and 9 small snowman.
He put hats to 7 big snowman. How many snowman do not have hats?
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snowman does not have hats.

2) Sharon has 6 bananas and 10 apples. She ate 3 bananas. How many fruits are
left with her in all?
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fruits are left.

3) Andrew has 8 blue balls and 6 red balls. 2 of the red balls do not have stripes
on them. What is the total number of balls in all having stripes on them?

balls have stripes on them.
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